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Labour Economics with Special Reference to India
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ukV & 1"u 1= rhu [k.Mk e: folkDr g A BHkh rhu [k.Mk di 1"u funi"ku Bkj gy
dnft; A vdk dk folkktu 1R;d [k-M e fnjk X;k g A

Note: Question paper is divided into three sections. Attempt question of all three section
as per direction. Distribution of Marks is given in each section.

[K.M & "/* Section - 'A"

viry?Rrjh; 1"u ivYi “knk ek

Very short answer question (in few words)

g1 feifed ge=l § 9 fbgl ©: Ul Bl gl DIl — 6x2=12
Attempt any six question from the following questions :
(i) =19 R & aRyIftd S |
Define labour economics.
(i) =M B gari ygfcd & 7 MR © ?
What is meant by migratory character of labour ?
(i) IATH FAOIG  IMY AT FAS & ?
What do you mean by minimumm wages ?
(iv) T 9T | SN T HHSId © 7

What do you mean by profit sharing ?
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)
(v)  TarRRiar & gRereT ST |

Give the definition of Migratory.
(vi) 3rguRerar T ef Jarsy |
Give the meaning of "Absentecism".
(vii) fagdTERT B gRYTT DR |
Give the definition of Rationalisation.
(viii) RS Aiedrsl ¥ @ ared ® 2
What is a meant by collective Barganing ?
() =9 99 B gRIT AR |
Define "Trade union".
x) AEIiTe 9 w7 g ?

What is social insurance ?

[k.M & "c* Section - 'B'

y2Rrjh; 1"u 1200 "kink e

Short answer question (In 200 words)

fFe=ifhd gedl § ¥ fdhgl IR Ul bl g DI | 4x5=20
Attempt any four question from the following questions :
() YIIIdT & R HROT § P
What are the reasons of migratory ?
(i) fAdBIBROT & YUYl BT AR DI |
Discuss the merits and demerits of rationalisation.
(iii) ST BT IYTROM Bl FHSY |

Concept of Bonus.
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(iv)

v)

(vi)

(vii)

3

STH Y DI SMATTHT Ud Hed B fAda=T BT |
Discuss the need and Importance of Trade unions.

TSI ¥ 31T T A © 2 9IRA & 97T Y9 &1 T3 DI FH18Y |

What do you understand by child labour ? Explain the problems of child

labour in India.

AEISTS 9 FT © ? 39! faRianil Ud "#Ed R UdTel Sifer |
What is social insurance ? Throw light on its characteristics and significance.
IR H $TH HAT SR DI MITISAT Ud S §RT FUISd 579 BTl
AT BT e @R BT |

Explain briefly the need of Labour Welfare work and the labour welfare

measures undertaken by the trade unions of India.

[k.M & "I* Section - 'C’

ni%k mRrjh; 1'u dfuc/kRedd

Long answer/Essay type question.

f=ifed vl 5 9 fhsl IR ueHl & 8 DIV | 4x12 =48

Attempt any four question from the following questions :

(i)

(ii)

(iii)

YRA H YIIRIAT & 9T BRI & ? §9b U—alyl Bl [da=r Hifs |
What are the reasons of migration in India. Discuss its mertis and demerits.

fIerepTehRoT | T AU 2 ? fIdDIDhROT & JOI—arei Bl fdaamr Bifs |

What is meant by rationalisation ? Discuss the merits and demerits of

rationalisation.
IATH ATl & 31, S]RYT T4 &F DI fIa=er difor |

Discuss the meaning, object and scope of minimum wages.
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(iv)

(vi)

(4)

IR # IONTR SRl & 71 $GagT & ¢ JAoNR HRedl & &Iy
qATSY AT D! I @ oIy Fema ST |

What are the objectives of employment exchange in India ? Mention the

defect of employment exchange and give suggestions for its improvement.

s dg B g SR | s el @ Seawdl Ud Fral @ fada
B |

Define 'Trade union'. Discusss the objectives and functions of trade unions.

Y BT RIT 2 7 YRT H 19 HodTo R Udh fdy forfRau |

What is labour welfare ? Write an essay on Labour welfare in India.

(Vi) |EISTD R W IMU R FHSA © 7 WRd H AT R Gaedl

YTaeT= bl THsY |

What do you understand by social security ? Explain provision of social

security measures in India.
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